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Question 2 Find the maximum of the function f(z,y) = i2% + 3y° subject

to the constraint 3z% +1* < 1.
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Question 3 Find the minimum of the function flz,y) =2>+y* -2~y

subject to z° +y
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2 < g, >0,y >0, where a is a positive real number.
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Question 4 Suppose that the point

(o

(z,y,p) = (1,4,4) is a critical point of

~ the Lagrangean function L{z,y,pb) = 22+ Y — u(\/;:é + /7= 1.

(2) Use the second order conditions to show that the given

mizer of f(z,y) = 2z +y subject to VI Ju=1
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constraint 0.9/ + vy = 1.
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- Question 5 Answer the following:
i 1. Determine whether the foiiowimg functions are 11013"1.0geneous, homoth-
! etic or neither. ‘ & At
- ' e
: (a) f(z,y) = sin(y/x) + cos(z/y)- R
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2. Show that if f{w,v) s homogeneous of degree_ ,k: then
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